## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Utilizing Expenditure Balance - Tohono O'Odham Nation Team Arizona)

WHEREAS.

WHEREAS,

--

the Tohono O'Odham Legislative Council by Resolution No. 95-331 fully supported the participation of the Tohono O'Odham Nation Team Arizona in the North American Indigenous Games in Minneapolis, Minnesota on July 25 through August 7, 1995; and the Tohono O'Odham Legislative Council by same Resolution approved financial support in the amount of \$23,560.00 which was appropriated from the General Revenue Funds; and the Coordinator for the Tohono O'Odham Nation representing

WHEREAS, the Coordinator for the Tohono O'Odham Nation representing

Team Arizona wishes to hold a Recognition Ceremony to honor and
commend the Nation's Athletes, Coaches, & Chaperones who
participated in this event, as well as the contributors; and

WHEREAS, a balance of \$3,510.05 remains unexpended from the total appropriation.

NOW, THEREFORE, BE IT RESOLVED by the Tohono O'Odham Legislative

Council that it hereby approves utilizing the balance of \$3,510.05,

to hold a Recognition Ceremony for the above mentioned cause.

	RESOLUTION NO. <u>95-479</u>
	(Utilizing Expenditure Balance - Tohono O'Odham Nation
1	Team Arizona)
2	Page 3 of 3
3	
4	TOHONO O'ODHAM LEGISLATIVE COUNCIL
5	TOHOTO O ODNAM ELOISLATIVE COUNCIL
6	Dan Run
7	Dennis Ramon, Legislative Chairman
8	
9	
10	A O A-A
11	[X] APPROVED on the 29th day of Loglands, 1925  [ ] DISAPPROVED at \( \frac{12.50}{2.50} \) o'clock, \( \frac{P}{.M}. \)
12	10
13	[ ] DISAPPROVED at
14	$\Theta \cap O \cap O$
15	Musik Musik
16	EDWARD D. MANUEL, Chairman
17	TOHONO O'ODHAM NATION
18	
19	
20	Returned to the Legislative Secretary on the 29 day of
21	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
22	feptimility, 19 %, at a.s. / o'clock, /
23	September, 1995, at 2:57 o'clock, P.M.
24	Frances Antone, Legislative Secretary
25	
26	
27	
28	

ACTION: UTILIZING EXPENDITURE BALANCE-TOHONO O'ODHAM NATION TEAM ARIZONA

MOVED: COUNCILWOMAN MARY JANE JUAN-MOORE SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE: SEPTEMBER 27, 1995

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 160.0	MARY ANN ANTONE **  (Nellie Miguel)	80.0	x			
	2. RITA MARTINEZ (Maxine Norris)	80.0	x			
SELLS 314.0	1. JOSEPH T. JOAQUIN (Allen W. Garcia, Jr.)	157.0				х
	LUCILLE ENCINAS     (Cynthia Chico)	157.0				х
SCHUK TOAK 117.0	1. KENNETH J. ANTONE ( )	58.5	х			х
	2. MARY JANE JUAN-MOORE ( )	58.5	х			
SAN XAVIER 142.0	DENNIS RAMON     (     )	71.0	x			
142.0	2. TONY BURRELL ( )	71.0	x			
BABOQUIVARI 257.0	EDWARD KISTO     ( Idelia Stanley)	128.5	x			
237.0	2. FRANCES MIGUEL (Kenneth Chico, Sr.)	128.5	x			
GU ACHI	ALEX J. RAMON     (Marian Johnson)	93.5	х			х
187.0	2. WILLARD ANITA (Louis Johnson)	93.5	x			
PISINEMO 135.0	JOHNSON JOSE     (Roseleen Antone)	67.5	х			
133.0	2. BARBARA SALVICIO ( )	67.5	x			
SAN LUCY	ALBERT MANUEL, JR.     ( )	52.5				х
105.0	2. JOHN RENO (Mary Hoffman)	52.5				x
GU VO	1. MICHAEL FLORES	67.0	х			х
134.0	2. FERN SALCÍDO (Larry Montana)	67.0	x			
HICKIWAN	1. LLOYD FRANCISCO .	71.0	х			х
142.0	2. ALEX JOSE	71.0	x			
CHUKUT KUK	1. KENNETH WILLIAMS	91.5	х			х
183.0	2. DAVID GARCIA (Marvin Thomas)	91.5	х			
	TOTAL	1,876.0	1,457.0	-0-	-0-	419.0 [09]